
Ergonomic LED gaming desk 
User�s manual - Manuel d'utilisation- Gebruikershandleiding 

Benutzerhandbuch - Manuale dell�utente - Manual de usuario

P   - 



NO Name Qty

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

2

2

8

2

4

1

1

10

2

5

12

8

2

5

Foot Margin

Leg

Bracket

4mm Hex Spanner

Support Beam

M6*10 Screw

M6*12 Screw

M6*19 Screw

Cable Clip

M4*19 Screw

M6*14 Screw

Rubber Cushion

ST4.8*19 Screw

ST3.5*19 Screw

1Adaptor

1Handset

1Power Cable

7

11 12

8 109

13 14

17

22

3

4

16
56

15

1



M6*10 Screw 2 PCS

M6*10 Screw 2 PCS



4MM HEX SPANNER

M6*12 SCREW 8PCS



M6*14 SCREW 8PCS

4MM HEX SPANNER



4MM HEX SPANNER

M6*12 SCREW 4PCSRUBBER CUSHION 10PCS





ST4.8*19 SCREW 2PCS

M4*19 SCREW 2PCS

M6*19 SCREW 4PCS

M6*19 SCREW 4PCS



120 ST3.5*19 SCREW 5PCS CABLE CLIP


